
 

 

 

 

 

 

 

 

 

 

                          

               2011- 2014 Polaris RZR 900                               NOTE: Fairlead is not included with the kit. 

                                                                                                             NOTE: Will not fit two bolt pattern winches or some  

                                                                                                             Winches with the wide roller fairleads ! 

 

 Install fairlead with hardware provided by winch manufacturer. 

 

FOR QUESTIONS OR COMMENTS PLEASE CALL: 320-964-1616 

( hours are 7:00 to 4:30 CST,  Monday thru Thursday )                                                                                    INST1609 

ITEM PART# QTY. DESCRIPTION

1 1609-100 1 Main Mount Plate

2 1609-02 1 Fairlead Plate

4 HDW7058 2 5/16 Nylock Nut

5 HDW7061 3 3/8 Nylock Nut

6 HDW2100 2 3/8 x 1 Hex Bolt

7 HDW2115 1 3/9 x 3-3/4 Hex Bolt

8 HDW2064 2 5/16 X 1 Carriage Bolt

9 1609-200 1 Roller

10 HDW2352 2 7/8 Bushing

 



 

FOR QUESTIONS OR COMMENTS PLEASE CALL:  320-964-1616 

( Hours are 7:00 to 4:30 CST,  Monday thru Thursday )                                                                                                INST1609 


